Interpreting Rate Functions
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Directions: Include all necessary units as you answer each. 

1.  The graph at right models the velocity of a car 

in miles per hour.

a. Describe what Point A represents.
Represents that the velocity of the car at 

1pm was 20 mph 




b.
Describe what the slope between B and C represents.


            Represents the acceleration of the car from 4pm to 5pm

c.
What is the velocity at 5:00pm?      
               40 mph

    
d.
What is the acceleration at 12:30pm?      

                 20 mi/hr2               
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2. This graph represents the density of hikers on a trail.
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Describe what Point A represents.

The density of hikers at mile 3 is 30 hikers per mile. 


b. Suppose that 
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.  
Write a sentence stating what this represents in context.  


       In total, there are 110 hikers between the start and mile 3.
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3.  The graph at the right shows a speed function for a car trip.











        


        Speed in

       a.   Write a sentence telling what the coordinates
        miles per

             of point A represent in words.                           

hour

At a half an hour, the speed of the car is 40 mph. 





       time in h

b. Using the graph shown, if 
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, write a sentence telling what this means about the car trip. 
The car travels 80 miles in the first 2 hours. 
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